
A1

STEP 1: LEG INSTALLATION
WITH THE ASSISTANCE OF ANOTHER PERSON, POSITION THE METAL

LEG AGAINST THE UNDERSIDE OF THE TABLETOP, AS SHOWN IN
DETAIL A1. ENSURE THAT THE MOUNTING HOLES ON THE

 LEG ALIGN PRECISELY WITH THE PRE-DRILLED 
HOLES ON THE SURFACE.

STEP 2: FASTENING THE LEG
INSERT THE 5/16" X 1-1/4" HEXAGONAL HEAD WOOD SCREWS 

THROUGH THE ALIGNED HOLES ON THE LEG AND INTO 
THE PRE-DRILLED HOLES IN THE COUNTERTOP (CTOP), 
AS SHOWN IN DETAIL B1.USE A POWER DRILL ONLY TO

 SECURE ALL SCREWS. DO NOT OVERTIGHTEN TO AVOID
 DAMAGING THE COMPONENTS.

CAREFULLY TURN THE TABLE OVER AND
 PLACE IT IN THE DESIRED LOCATION, 
ENSURING IT SITS LEVEL AND STABLE.

STEP 3: FINAL POSITIONING

THE IMAGES ARE FOR REFERENCE ONLY

B1

DETAIL B1
ESCALA 1 : 5

HEXAGONAL HEAD
 WOOD SCREW- 5/16 X 1-1/4"

DETAIL A1
ESCALA 2 : 15

DESCRIPTION #

HEXAGONAL HEAD WOOD SCREWS 5/16 X 
1-1/4" 12

12345

ASSEMBLY INSTRUCTIONS
I-MIX-E015


	Hoja1
	Vista de dibujo1
	Vista de dibujo2
	Vista de dibujo3
	Vista de detalle B1 (1 : 5)
	Vista de detalle A1 (2 : 15)


